Exam 4 Calc 2 12/5/2007

Each problem is worth 10 points. For full credit provide complete justification for your answers.
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2. Give a power series for f{x) = of at least 4" degree.
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3. Find a Taylor polynomial of degree at least 4 for f{x) = cos x centered at x = 7/2.
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4. Determine whetherz 3 convergeslor diverges.
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5. Determine whether Z
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converges or\diverges.
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6. Find the radius of convergence of the Maclaurin series for f{x) = ¢".
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8. Use a Maclaurin polynomial of at least 7" degree to approximate J o dx to 4 decimal
+x
0 .

places.
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10. The radius of convergence of the series Z (— 1)H o is 1/3. Are the endpoints™
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Evira Credit (5 noints possible): Prove that if the series ? a 1s absolutelv con\?-e‘fgen?, then the
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